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Correct Ans : C

Subject :

Q.No: 6
A
B
C
D

Hindi Bhasha 01

AP IR A
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Correct Ans : B

Subject :
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A
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il V. 1T 1 IV (D471 W @i W AT T TG WITTIVIT § bl

c VUM WU Y

D ARG Pt B R
Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 8 HI-Pizwcdl & Geuf & Bt & | 1 &1 By SR 27

A o Fad G, e, g, e SR w5 A & 9 71

B HINT & IRY P R it g1

C Tt & Paet Ug, forae BIIa B9 W & e R s 31

D T DI & fawre & opare ot ariat Hifie sl o1 99 o ]

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 9 7w 7 & Yeitg st g & ol 9t wgpfal & SNuR W feba Ml # aifer < Yebell 82
A B

B ESil

C ki)

D IR

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 10 = & I e ufrn & gl
A Fad e

B Faa Rigrdf

C Faq UTSTHH

D Rrerep, femif oa TremsA|

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 11 ¥91 & ghaM & U 31 R fg ¥ Ted IRT 7

A TE AFEFHR T Bl § AP S I 7 3 0

B I T IW L v S

c TE TS W S AW AT T e F ARG 919 Aegy SRl §
D TE FHB 3T §

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 12 3= WIUfiP TR W UGTE W arclt UTsT 8t
A ot e

B TIGHIST AT &R T

c SieRTet v

D APa HIET

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 13 ffafad & Txa-5 IR0 32
A e

B eefifasH

c THBH

D wes

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 14 TP HNT Rrefeh & & & 31T G -1l 82

A T ER P o1 arelt IRA T SROT $ Tg9H IR §T SUIHR SR S

B T BI T R T G IR UG HET

c =t & 9 & et R § ST aife S F ey Rigor wrf wrfed farar s ww
D B 3 favg a%g St A Rrgare? SR Q1 FRET

Correct Ans : D

Subject : Hindi Bhasha 01

IV LY VWLV I T = 17TV

Vi § _AWITIHHIERITOHET BN VIV VIKTT Wl AN
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il V. 1T 1 IV (D071 W i W AT T T VIV § bl YTV Y VWV I T 17V T e § ST pGRITWHT BTGV VIRVl AN

Q.No: 15 ‘T= 3O THIS-GRGaP TRIT § 3 750 v g1’ % AR §2

A R @1
B TGP BT
C et 1
D uraeia &1

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

A ) T T TR $Y g YR T Ul & T SRId IR aI fadwed Bl 9gH Pifor-

Sl 50 3 A 3Hd o1 g1 FSat-gradt o @ €, O Tmgde 59 oft 7€ €1 wga 3 9 Wfedi R @l IR M1 3R T@ $ Ja drelt 34 SHifadl & [ T G o I HaTa SIS gew ard el Al 2
TR STl 1 U T oexf 1 §1 9% © o € wRET I o 1 s Ty oy S 5 a1 & U R 2 omeR, s o A Uy go Wy 3 die 38 @ R, 99 o wiltwdt &, afpe R g ¥ MR T
SO 3Ter TG A, TR B SR TG-arg a1 fada! B qR1 A ¢ iR a9, 7 3R IRR § T 10 SRR 1 7od SHTER0l AR 81

Tg 5t @ sifa o °f a1 e 1 of T R 9% oS e @1 o @1 em 3 e @ wer o1 f e 9w ot @ 6 g Ie §:9-UW @) Seryfd & 9 3al 71 98 reRia sA @ w9 e
ANMHT G TR F g1 W T g UT| SR AT Bl A LTSl § iR et § & Fer 369 digl 3 &) FIR $9 g

Q.No: 16 Iuad Teli=T & AR, A T R srpiugas 4 o1 39d F1 32

A TWEAR
B gfaar
C R @ weER

D AT aRA
Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

g A9 fw U Y #1 v IR T Ul F e IR IR a e T 79 sifon-

ol 39 3 A 3HD 31 §1 FSa-grad f @ g, O Tmgde w9 oft 7€ €1 wga 3t A Wiedi W @Sl 3R A 3R T@ $ Ia drelt 34 ifadl & O T G 4 IS HaTer SIS gew a1d el 4 1
TR S 31 0@ T oexf o ¥1 98 ¥ o @ aRAT o A s wge Oy o ar A S R 2 omeR, s onf A uyg goy Wy 9 die 38 @ R, 39 o wiftwdt %, afm R ag a e R T
ST MTERT TG WHAT, TEI § SR Tg-clg ard APt Bl G THAAT § SR a9, AT 3R TR F fHT 717 SRR 3T Ted SR AFCT 71

Tg Tt T S a1 a7 a1 ner &1 o T 1 9 A W o o R w3 3l € e o b As Bt Al ot & b 97 e g:-Td &1 Yoy & Ay 3dl €1 U 1Rt s @ aas & age
A T G F TgA W AT gl U1 S BT I W USTS ¢ AR et § b a1 IE dlgT aF 1 IR F9 7

Q.No: 17 ITde TR & SR 3% 7 M et ik sfcall 3 @ @it frpren ar

A T9 ¥ GedRI UMl

B gl Ud g8 & we
c TF A o

D o TR

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
= R T 7T TR 31 Ig@R P U U & e Sfd IR aid faded B 99 Sifere-
Sl 39 39 A w oS ¥ asdt-sred it @ 8, O dmgde a9 oft 7€ §1 T A A difedl R W ok T oiR 4@ v gaq ardt 39 Wit & o ww amm o Wi Fetanr 318 wes & @ ot

T il $1 U G ofes off §1 9% § o9 € aRAT I S S ST g oy & {5y a1a § i § 2 omeR, s onfe Uy gav v 3 31w 3 | |, S o Tl &, Afde R o ug S F R ©
ST TSRS TS AT, TR B TR Tg-arg a1dt fIda &Y gR1 FHew § 3R a9, A AR IRR I Y T SRR H1 T TR0 3 81

Tg it W wife @ o a1 wger &1 o T §1 9% oo 9 @1 o ©1 w3 i € Fet o s s 9 o 9t © 6 07 99 §:9-9W &) Weyfd & Wy 3l 31 98 Srafffa A & mae @ o
QM G TR & T R T G UT| SR A Y 9 ToTSdl ¢ iR e B & war Sud el o1 @) IR 9 7

Q.No: 18 ITdd TN F AR , 7 I8 TIoT o IO Uit 3R GHRa wifedl &1 U W e B
A Bl Y

B TS

c afgenslt 3

D Teraedt 3

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

feRT: e 3T T TR S UgaR 9P T WAl & 99 Ifd IR aid faded BT a9 Bifeig-
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il V. 1T 1 IV (D071 W i W AT T T VIV § bl YTV Y VWV I T 17V T e § ST pGRITWHT BTGV VIRVl AN

Sifcdl 39 3T A o oS §1 agar-grrsdl it W E, R TMgde o9 ot T 71 i gar 3 A Wifedl R Wl SR A $iR @ 3 90 adt 39 wifd! & i T A o Wi e o1 gge ad gl Al 2
TR ST 1 U T el o §1 98 © o @ aRET o 1 s T oy S o a1 & U R 2 omeR, s o A Uy gov W 3 die 38 @ R, 99 o wiltwdl &, AfpA R i ug 9 M R T
SUAT 3Te G A, TR B 1SR Tg-arg d Sfada! B G A § SR g, 7T SR IRR § 6T 70 SRR Y 7ed SRl 7T 81

T8 et @ sifa o °f a1 e o of T R 9% s e @1 o 21 e 3 S € wr o1 f e 9 e ot @ 6 0g 9ed §:9-UW @) Seryfd & 9 Al 71 9 ereRiia swA & mgs 9 e
ANMHT G TR F g1 W T g UT| SR AT B A BTS¢ iR e @ & Fer 3ud gl O &) FIR $9 g

Q.No: 19 IuYdd TEIi= F SFNR, T T T RIS § IR SHEH Hal I9 el A P FIR FI g 8

A i)
B SR
C o™
D ELE|

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

g A9 e T i 1 tgeR I T Ul F 99 Ifd IR W e &1 79 sifon-

Siferal 39 32 A T o1 €1 agdt-gred ot 3 ¥, fhR dmgde a9 oft i |1 waar 3 A dfedl R Wl SR T 3R 0@ SR gad ardt 39 St 3 g v e e Wi ReTant o1 wes & Ael At 9
A Sl 1 0@ W ome o §1 98 § o @ aRAT  orgd Y s wge oy foh a1a i R 2 omeR, s anfe A Uy gow W @ e S | 7, S o TRl &, afee R g d RF R T
SO 3TERT TS TGN, TE § AR Tg-alg ard APt Bl G GHAAT 3 3R a9, AT 3R IRR F 5T 717 SRRl &Y T0d SR AT 711

T fordlt @ wif o ol a1 e o ond =it 81 a9g Wy W 61 o B1 hiaw A i ) et o 5 A 96t et 08 © 1 o8 e g u-GW B Weyfa & Wy 3 §1 98 i A € Hge o A
A G TR F Tt TR R GoHT UT| SR AT H A UoTSdl ¢ iR et § 5 war Sud el a1 @ FIR 9 7

Q.No: 20 ITYa TR ¥ SRR, T FY BT T97 BIIT-

A T P A 781 € 5 96 T9% §:0-TE B Tyl S qy @
B I AT B Tl SISl § IR Srerht B 5 e 39 et A B FR B9 2
C TR Ui SR TR Sifdt 1 T IR o ot §1 9w § o @ S & o I | e

D et ¥Ra 3 F s o ¥ 1 agh-grredht W@ ¥, R Imgdes ar ot i 7

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

A= S U U eI 3 UgaR IR Y URAT & e S IR a1 fAded 31 99 Sifore-

Sifeal 9 39 A 3R oS 1 Tedl-greh ot 3@ B, O ngde s o v §1 waaar o A WiRd W we) SR T 3R g R e arlt & sifadl ¥ R e w9t e S8 geet a1 el A
TR STl 1 TP AT SEE *f 31 98 § 8 8t SRl A o i affer | Age Uy A 69 919 H 71§ 2 SmeR, FeT anfe  ug gav wvE I 3w 3§ 3, 9 o uitrdl &, dfeed e a ug e R
AT ST G W, TR B TR TG-S a1 fada! 3 qR1 FHei § iR 99, 7 3R IRR ¥ T 70 e S Tad SR 7T 31

Tg forsit @ S a1 af o1 wHer &1 of A §1 98 A9 A9 &1 4 §1 I0aH 7 Sid 8 Fel ol i 7S 3 99wl 981 © 5 0% 9ee §:W-GW &1 S Mfd & 91y SEdl g1 98 STt avA € 7S 3 39
QM G TR & T TR T GO UT| SR A B A USTSA & SR e § & war Sud et a1 @1 IR F9 1)

Q.No: 21 = & ¥ U-Iw & $H-91 TAN 87

A YT T

B HHYRG TAR
c e T

D SeqdiHI T

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
R e 3T 1T eI S UgR gP T WAl & G99 Ifd IR and faded $T 99 Piferg-

Siferal $90 3 A 3FF ofS 71 TS-Fsd @ T, R Igde 5w i I §1 W 9 A el R E S OfR T iR 4 $¥ 9o el 39 Sifodl & R e e o 9 e S8 98w o el A
TR ST 1 U W e W €1 98 © o € w3 i i v oy b a1a A 1§ 2 emeR, Mg anfe A Uy gov Wi A die 33 @ §, S 2 Wit &, Afhe i i ag I RF R T
SO SMTERT TG HHAT, TR | SMaR Ig-alg ard HMfddd! I 1 Gl § 3R aa, A SR TRR § fHT 7Y SR &1 T6d SR 71T 31

Tg et @ it o & a1 wger &1 o T 81 95 o9 o &1 o {1 Tem A S @ Fer o1 fF 3w 9 a3 98 § 5 95 e §:0-gW &) Seyd & 91y 39l 31 9% eAid srA @ me @ ige
AP G TR & T W SR G UT| SR A Bl A UoTSdl § iR e § & Ja1 369 el o &1 FWR 34 8

Q.No: 22 I 3 USAI g 31 o fafsar 91 78 Wa' &1 7 7 3 @ onf g2

A ST Hfed W FRAT
B W ot s o B qEa T |
c ST 87 R o Rran e

D TG ERA TR ISl FA S P A T4 Sl
Correct Ans : D
Subject : Hindi Bhasha 01
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il V. 1T 1 IV (D471 W @i W AT T TG WITTIVIT § bl

Passage:

= SR T 7T TR 91 ggaR g Y U & e Sfd IR a1 fa@ed o1 99 sifone-

IV Y MWLV I Tl 17TV T § ST GITWHT TGV VLTVl AN

St 59 3 A 3w 1S 1 asdl-grred off & ¥, R Tngde w1t 1 §1 WA A died R w6k A 3R T@ A g ardt 39 wfedt & Rt a4 Wie Retan 515 wes o Ag At 0
AR Sl 1 0 T ome off ¥1 98 § o @ sRAT o bt S vy O foh a1a # i R 2 omeR, s anfe A Uy gow W § die 38 | R, 99 o wiftrdt &, afee R ag d M R T

SUAT ST G WA, TR B SR Tg-Ag aI HfAdd! B G A § 3R 99, 77 3R IRR & T 70 SRAgmerer Y 7ed SRl HFAT 31

Tg e T wiifa ar & a1 wer &1 o T 31 98 WIS WE @1 o o1 Tad A 3P 8 el AT i 7ge 31 93l 781 © O 0% 99 §:T-9E B Wergyfd WY Al g1 98 SR SRA $ 7 3 age

AMH G TR F T W T AT UT| SR AT H A DTSl ¢ iR e § 5 war Sud el O B FIR 9 7

Q.No: 23 = &  amerf 1 yafgard weg BF- 82

A ST

B fasm

C GuEC

D R AT

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

A= B Bl UgHR U T URAI F e SR IR It fAded 31 9 ifore-

I HSd H, Sdiaa J -

ARt Wid FIR R S 7 HARA! - &0 H -
Tieaf nfdar Tikar F siffawgd der : w@H -
IR R TiiRe RRR R ferfi srea - srre # -
- TR -SeTd -6 7o~ STe-yere | -
ffa 7, s 4, u d, - A #

o & sread ee W 'Y, 9O, 94,

8 7 %81 99 FEl

3R /82 TB T

HieRT &1 g T Tl ot

% g Sfidl & 9 WHE Wi U o,
FARR 32 3P W I,

e 3% Wi & 95 smfta @15 o
g i fgyeran & 9 Il o9 o,

Bid TG ST R,
fReTa FHg H6 §

3 Fod ggdl a0 U@ fagrtl

Q.No: 24 e SHTE BIF-T1 Sfeded Tsg 1o W@l §?

A 90 - W9 - g4
B qU-g9-gv
c = - 97 - 99
D 99 - 9990

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

= FTEY 1 TEHER I T Al F 998 3R I<r 9 fwed @1 79 sifer-

i g H, Sciaa & -

et i R TR I A HARH - G H -
T nfdar wiar ¥ aifafawqga Jer : @@ -
IR R TudiRen R W fenfii srea - s & -
- TR - T8 7o~ Sy-yea & -
fafa &, S §, 94 ¥, ofa- oma §

R Ua s wres W1 gy, 9, 94,

& 71 <51 9 el

IR 772 TS I
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il V. 1T 1 IV (D471 W @i W AT T TG WITTIVIT § bl

HIERT Pt qg 7 Tl 3Mrel,

4 gU Siidl P 95 JAT Wal T e,
Fah I 30 TR I,

fogah 3 fawfa & 98 Smifdr 1S o
1 1 Fgyeran § g1 il o1 o,
I3 TG ST 3R,
e oy Fo J

39 Feve U 5 U fagmi

Q.No: 25 & g SHidl S HH & wren e §2

A o Hed
B A
c Bt
D Ffa

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

e FraY B ugaR Ig T U & 999 Sid SoR 9 fawed @ 9 Fifr-

i Hea H, St | -

Tieht Wid TR | I IHA DA - et H -
e nfdar wiivar F aifafawgd qer : R -
IR R ke R R Al sfeqt - sre & -
I TT-Uerd -8 TToiH- Sed-ed § -
fafa &, 51 &, 7w #, ofva- eFa &

b & sferaa ek W1 ', 99, 94,
RSEEEEET]

IR T §2 $F I

AT &1 ag 1t FErl i,

4 §U Sidl & 98 THE T T e,
AR 3T 3P W I,

fergadt 3% fowifa & a8 oMt =S o
S 3 Fsyeran & 9 ol o <,

BfA WG ST 3R,

fReHd FHT S5 4

319 Frhel gg 99 T fagmT|

Q.No: 26 "3Wd" q B BT ad § -

A SRFTEH
B e g &
C RuSkER)
D WO Y

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

AT S B UgHR G T U F Ga S I<R At fadwed a1 9 sifvie-

=i e H, Sdiaa | -

T WA TR R I I ARG - & A -
Tied nifdfar T & sifafrga a6 : R A -
IR AR ke RER R ferfifk ofed - s & -
- TEIG-Uerd-o oM~ STafd-yee & -
fafd o, o1 9, A d, - sFa d

Rt U S Wex W 'Y, U, I,

g st 381 7& Bl

IR T &2 TS T

IV Y MWLV I Tl 17TV T § ST GITWHT TGV VLTVl AN
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il V. 1T 1 IV (D471 W @i W AT T TG WITTIVIT § bl

HIERT Pt qg 7 Tl 3Mrel,

4 gU Siidl P 95 JAT Wal T e,
Fah I 30 TR I,

fogah 3 fawfa & 98 Smifdr 1S o
1 1 Fgyeran § g1 il o1 o,
I3 TG ST 3R,
e oy Fo J

39 Feve U 5 U fagmi

Q.No: 27 "8y - Tfdd Gl § SH-91 S[HR 37

A SUHAT 3P R
B SN 3PR
c TR SABR
D I SRPR

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

e FraY B ugaR Ig T U & 999 Sid SoR 9 fawed @ 9 Fifr-

i Hea H, St | -

Tieht Wid TR | I IHA DA - et H -
e nfdar wiivar F aifafawgd qer : R -
IR R ke R R Al sfeqt - sre & -
I TT-Uerd -8 TToiH- Sed-ed § -
fafa &, 51 &, 7w #, ofva- eFa &

b & sferaa ek W1 ', 99, 94,
RSEEEEET]

IR T §2 $F I

AT &1 ag 1t FErl i,

4 §U Sidl & 98 THE T T e,
AR 3T 3P W I,

fergadt 3% fowifa & a8 oMt =S o
S 3 Fsyeran & 9 ol o <,

BfA WG ST 3R,

fReHd FHT S5 4

319 Frhel gg 99 T fagmT|

Q.No: 28 "3 BT FaTH e @ -

A fafa
B 3R
c aif%
D qm

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

AT S B UgHR G T U F Ga S I<R At fadwed a1 9 sifvie-

=i e H, Sdiaa | -

T WA TR R I I ARG - & A -
Tied nifdfar T & sifafrga a6 : R A -
IR AR ke RER R ferfifk ofed - s & -
- TEIG-Uerd-o oM~ STafd-yee & -
fafd o, o1 9, A d, - sFa d

Rt U S Wex W 'Y, U, I,

g st 381 7& Bl

IR T &2 TS T

IV Y MWLV I Tl 17TV T § ST GITWHT TGV VLTVl AN
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il V. 1T 1 IV (D471 W @i W AT T TG WITTIVIT § bl

HIERT Pt qg 7 Tl 3Mrel,

4 gU Siidl P 95 JAT Wal T e,
Fah I 30 TR I,

fogah 3 fawfa & 98 Smifdr 1S o
1 1 Fgyeran § g1 il o1 o,
I3 TG ST 3R,
e oy Fo J

39 Feve U 5 U fagmi

Q.No: 29 "=1" 1 fadiy TIeg & -

A GEU
B T
C T
D Siifa

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

P oY $ ugER I T U F 9l S SR ard faded @1 999 Bifvi-
i Hea H, St | -

Tieht Wid TR | I IHA DA - et H -
e nfdar wiivar F aifafawgd qer : R -
IR R ke R R Al sfeqt - sre & -
I TRMEI-Herd -9 TToH- Sfeife-yaa & -
fafa &, 51 &, 7w #, ofva- eFa &

b & sferaa ek W1 ', 99, 94,
RSEEEEET]

IR T §2 $F I

AT &1 ag 1t FErl i,

4 §U Sidl & 98 THE T T e,

AR 3T 9 T S,

fergadt 3% fowifa & a8 oMt =S o
S 3 Fsyeran & 9 ol o <,

PId 5 Sl SR,

fReHd FHT S5 4

319 Frhel gg 99 T fagmT|

Q.No: 30 "3oraq" ¥ Juwi § -

A 3
B o
C qdd
D ad

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 31 What should come in place of the question mark (?) in the following question?
2466954

(17.82)2 - V576 =2

Frafafed uy & uyaee R (?) & /”E R &1 3 9ifee?
(17.82)2-576=?

IV Y MWLV I Tl 17TV T § ST GITWHT TGV VLTVl AN

291.5524
A
291.5524
B 294.5524
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 8/44
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294.5524

296.5524
C

296.5524

293.5524
D

293.5524

Correct Ans : D

Subject : Mathematics

Q.No: 32 One fifth of a number exceeds its one seventh by 154. Find the number.

2467067

T AT P Uil Y $HS TH-TIAd 41T ¥ 154 SfF §1 W I S

2695
A

2695

2606
B

2606

2700
C

2700

350
D

350

Correct Ans : A

Subject : Mathematics

Q.No: 33 The sum of the squares of the numbers 12, -8 and 4 is equal to:

2467111
TEAT 12, -8 AR 4 & T $T A1 WK §:
224
A
224
96
B
96
236
C
236
240
D
240

Correct Ans : A

Subject : Mathematics

Q.No: 34 The sum of the present ages of Vivek and Kishu is 76 years. The ratio of their ages before 20 years was 5 : 4. Find the present ages of both in years.
2467380

93 3R fargy B ofAF I &1 901 76 T §1 20 G I IH BT SFUE 5 @ 4 AT T $ adAM S a6f & 3 ffim)

30, 60
A
30, 60
40, 36
B
40, 36
15, 45
o
15, 45
D 12,48
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 9/44
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12, 48
Correct Ans : B

Subject : Mathematics

.No: 35 2 C» .
24607477 If% =3 then (5a%— 2a?b) : (3ab2-b%) =?

3 2 =§, @ (53— 2ab) : (3ab?— b¥) = 2

16:27
32:29

32:29
27:16

27:16
34:19

34:19
Correct Ans : A

Subject : Mathematics

Q.No: 36

3160650 The length of a rectangle 1s diminished by 10% while its width is enhanced by 10%. By what percent its area

will be changed?

T T g 1 10% i ot o et & wath gt e 6 10% 93t i el 21 35 dawa frer viwa @ wietda gm?

0%
A
0%
1%
B
1%
5%
C
5%
100%
D
100%

Correct Ans : B

Subject : Mathematics

Q.No: 37 P, Qand R had a total amount of Rs.1250 among them. P had three-seventh of the total share with Q and R. Find the amount that P had (in Rs.)
2467737

P, Q 3R R & URI @ 1250 39T A1 P & U Q SR R &F Y $d iFW &1 fH-cral fgam a1l p & oy et afy of (3ud #) 3ra Fifdm

390
A
390
450
B
450
525
C
525
D 375
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 10/44
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Correct Ans : D

Subject : Mathematics

Q.No: 38 Tn ADEF, all sides are of equal length, then each angle will be:
2468040

ADEF T, 32t 4o G0 <aTs @1 8, 1 U HIvgI:

90°
A

90°

75°
B

75°

180°
C

180°

60°
D

60°

Correct Ans : D

Subject : Mathematics

Q.No: 39  An angle is 2/7th of its supplement. Find its measure.
2468069

TP DU 3T TR BT 2/7 df &1 IHH 7Y T Fiforw)

40°
A

40°

80°
B

80°

30°
C

30°

110°
D

110°

Correct Ans : A

Subject : Mathematics

Q.No: 40 If 0.6x - 1.9 = 0.2x + 0.5, then find x.
2468315

% 0.6x - 1.9 = 0.2x + 0.5, T, x Id BT

25
A
2.5
3.5
B
3.5
6
c
6
D 2
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/44
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Correct Ans : C

Subject : Mathematics

Q.No: 41 Which of the following numbers satisfy the equation 2a + 10 = 18?

2468358
fofafea & 3 S @ e Tiex 2a + 10 = 18 T IgP T 82
3
A
3
()
B
4
c
4
1
D
1

Correct Ans : C

Subject : Mathematics

Q.No: 42 15 have been divided into two parts such that twice the first part is equal to the thrice second part. Find the parts.

2468400
15 BI 31 U § 39 YR fauiiera favar a1 § 6 ued UM &1 g gER Y & OF TR F SRR §1 U $1 g1 ag |
9,6
A
9,
3,9
B
3,9
3,
C
3,6
5, 10
D
5, 10

Correct Ans : A

Subject : Mathematics

Q.No: 43 CCE helps in elimination of -

2468500
CCE % e H Feral 3l 92
Memorization
A
G B
Self study
B
fsugiinucy
Regular study
C
Fraffa srer
None of the given options
D

fou e famedt & Q #E T

Correct Ans : A

Subject : Mathematics

Q.No: 44
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 12/44
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2469621 Calculate the ratio of 154 m to 49 m.

154 Hex ¥ 49 Hiex FT 3 I FIRTCI
22:7

22:7
1:17

1:17

1:7

9:7
Correct Ans : A

Subject : Mathematics

Q.No: 45 The ratio of 5 kg 550 g to 1200 g is:

2469657
5 f3 550 T ¥ 1200 T $T SIUC §:
16: 11
A
16:11
6:11
B
6:11
17:31
(o
17:31
37:8
D
37:8

Correct Ans : D

Subject : Mathematics

Q.No: 46 Ifx+1 is a factor of the polynomial 2x? + kx, then the value of k is:

2469931
afe x + 1 TGUG 22 + kx FT U UHES 7,61 k HTHA 8
4
A
4
-3
B
-3
-2
C
-2
2
D
2

Correct Ans : D

Subject : Mathematics

Q.No: 47 If 0.75:x::5:8 then x is equal to
2473393

Tfg0.75:x::5:8 @ x PT M 1 fHferg)
A 1.12

IV Y MWLV I Tl 17TV T § ST GITWHT TGV VLTVl AN

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 13/44

Page - 13



il V. 1T 1 IV

1.12
1.2

1.2
1.25

1.25

1.3

1.3

Correct Ans : B

Subject : Mathematics

Q.No: 48 Operant conditioning Model of teaching is developed by

2475523
foramg SrIge RI&0 JSd ..oovee R faa i forar mar &
A Flgnders
B Oliver
Taba
¢ @
D B. F. Skinner
. . ReR

Correct Ans : D

Subject : Mathematics

Q.No: 49 Edgar Dale's cone of experience shows relative effectiveness of:
2475552

TSR 39 & 3(IHT PT P e GHIaiier e o

teaching methods

A
uggor faferat
teaching aids
B
Rigror werad AnEl
teaching techniques
C
Riefor apfie
evaluation techniques
D
qeiH db i

Correct Ans : B

Subject : Mathematics

(D471 W @i W AT T TG WITTIVIT § bl

IV Y MWLV I Tl 17TV T § ST GITWHT TGV VLTVl AN

Q.No: 50 Which two numbers should be interchanged to make the given equation correct?

2479418
18-8x4+3+9=-27
fow 1T weiieew &1 w6l & % U b <) Semsll #1 smuw § Seen s =ifew?
18-8x4+3+9=-27
18 and 3
A
18 3R 3
8 and 4
B
8 3R 4
3and9
C
33R9
9 and 4
D
9 3R 4

Correct Ans : A

Subject : Mathematics

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 14/44
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Q.No: 51 IfL=+4+,M=-,N=x, P=+,thenS5N5P5L5M5="7?

2480918
L=+ M=-N=x,P=+,ASNSP5L5M5 =?
0
A
0
5
B
5
10
C
10
15
D
15

Correct Ans : B

Subject : Mathematics

Q.No:52 If1=3,2=53=7,4=9,then7="?

2480930
af§1=3,2=53=7,4=9,@7="?
15
A
15
13
B
13
17
c
17
11
D
11

Correct Ans : A

Subject : Mathematics

Q.No: 53 Given interchanges: signs + and +, and numbers 3 and 4; then the value of 12 + 2 x 3 + 4 - 18 is

2481049
RT 7Y ge (MqY A 92T ): BE + AR +, AR FOMN3 R 4; A12+2x3+4- 18BIAAE
2
A
a4
B
4
9
c
9
8
D
8

Correct Ans : C

Subject : Mathematics

Q.No: 54 How much confidence should you place in a single research study?
2481861
1. you should completely trust a single research study.

2. you should trust research findings after different researchers have found the same findings

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 15/44
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T Y T F Sue! fHaT faym e aiftee
1. HMUP! TH B MY G R G TG R HAT AU

2. faf¥ <iewdfsit gRT U@ & ey fiem & a1g siua! =iy & Ml 1R 4RI ST Ty

Only 1 is correct

Faa 1 AR

Only 2 is correct
? P29

Both 1 and 2 is correct
¢ 1R 29N TRE

D Neither 1 nor 2
Fdr1aRIH2

Correct Ans : B

Subject : Mathematics

Q.No: 55 Instrument used for measuring sample of behavior is -

2482507
FAER & T HI AT & 1T T DRI § -
Test
A
e
B Measurement
g
c Assessment
D Evaluation
PSeicE

Correct Ans : A

Subject : Mathematics

Q.No: 56 The exceptional children are
2482590 3Ry 9= B &

Gifted in nature
FUq

Orthopedically impaired
SRy fawamm

A

Learning disabled
¥ &M

All of the given option
fog o ot e

Correct Ans : D

D

Subject : Mathematics

IV Y MWLV I Tl 17TV T § ST GITWHT TGV VLTVl AN

Q.No: 57 A teacher distributed newspaper in Class V and asked the students to read the cricket scores of Indian team in latest match. Then she asked them to draw bar graph of the scc

T g 3 Fem v E gurER o7 faia fean ok Bt @ Fdhae f9 # uRda A0 & fhde TR B Uga 3 [T Fe1l iR 39 S Wil BT <3 1O SR 3 BTl e HIRm R 1§

2482673
make the class joyful and communicating
A vt ) o ST S T 3 R
enhance reasoning power of the students
® S 1 s Wk ) A g
help the students to make connections between mathematical concepts and real life
¢ i el I AR e 2 i e T o 9 e 7 3 g
D teach them through project approach
RIS eI F T F I% U & g

Correct Ans : C

Subject : Mathematics

Q.No: 58 Which of the projects are suitable for high school mathematics from the list given below?

2482688
= €1 7 et B R e @7 e o 3 R ST B2
Execution of school bank.
A .
wa 3% BT e
Running stationary stores in the school.
B
A H R R @M
Laying out a school garden.
C
IHd I it fas
D All of the given option
feu g W fawe

Correct Ans : D

Subject : Mathematics

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Q.No: 59
2482768

D

A lesson plan develops the possibilities of
TF U16 A1 GHIEST 31 fadha sl §
Adjustment

T

Maladjustment

Srgadr

Deviation
e

Truancy

Correct Ans : A

Subject : Mathematics

(D471 W @i W AT T TG WITTIVIT § bl

IV Y MWLV I Tl 17TV T § ST GITWHT TGV VLTVl AN

Q.No: 60 The age of a father is equal to the sum of the ages of his 5 children. After 15 years, sum of the ages of the children will be twice the age of the father. The age of father is :

2483886

D

T e it 3Ty SUF UiE 9 Y g & AN F R 21 AR 15 7 a1 U a=il Bt g 1 A e 35t oy 1 gue &) Sl o e 9 oy 8-

39 year
39ay

40 year
a0

42 year
427§

45 year
45 T

Correct Ans : D

Subject : Mathematics

Q.No: 61
2469577

Drinking water contaminated with fluorine may cause:

wiRZS A g Yuord & SR € THdl B

Acidosis

SRl
Alkalosis

&RATAT
Fluorosis

TR

Intestinal irritations

it F Sa

Correct Ans : C

Subject : Environmental Study

Q.No: 62 Which bomb is used in the Pokhran nuclear testing in 1998?
2470160
1998 & URERYI URATY] G0N & a9 o1
Human bomb
A
RISEEL
Hydrogen bomb
B
oA T
Atomic bomb
C
A 99
D Nuclear bomb
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 17/44
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3 §H

Correct Ans : B

Subject : Environmental Study

Q.No: 63
2470365

Which of the following is not true regarding EVs?

ey ¥ ey A Fofafe 7 3 99 @ v T8

The nature of EVs is integrated

ey 2 vl wwipa §

EVS is based on child centered education

ey ara Hia Riar w emuia §

EVS provides opportunities to the learners to explore their environment

Ediey Rienffdi @Y 7% Tafavur 1 Y6 @I & S[EER HEH Sl §

EVS lays emphasis on description and definitions

Ediv Rgeo iR Rl W Wk ST

Correct Ans : D

Subject : Environmental Study

Q.No: 64 Sunita wants to sensitize her students to gender inequality and stereotypical image/jpgs related to work. Which of the following should Sunita do in her class?

2470504

Frtar o fenfifel & wrd | Gafta dfe fwwar ik wieard! ofad & wia dae=ia oo aed § | Hia o Rofefda § § ot wen & Far F=a1 afge

Present stereotypical models to students

wigard! Arsel 1 ST Bl wgd ¢

Show flash cards of different types of tasks

Rt weR & Pl & W TS Ry

Ask only boys to clean the classroom everyday

Faq Al I TR T F) I FA B B

Invite a student's mother who is an auto driver to the class

TP O St 71 S ey 7 mla B o Siie) e 8

Correct Ans : D

Subject : Environmental Study

Q.No: 65
2470610

The shelter of Bird, Rat and Lion are sequentially

uelt, 7@ IR 2R P 318 HHIR B¥ell &

Nest, burrow and forest

Hie, R ok S

Cave, burrow and tree

w1, fa R ¥

Nest, tree and cave

Hre, g iR T

Nest, burrow and den

Hien, i ok Tig

Correct Ans : D

Subject : Environmental Study

Q.No: 66 The shikhara over the temple use to be very heavy to lift manually, so the architect’s built,

to the top of the temple placed the boulder on rollers and rolled it al

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 18/44
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TR & SW BT RRR Tit § I3 & o Iga URT gon axan o1, Fferg AfeR & i w fffa

2470665

stairs
A

et

an inclined path
B

G

pietra dura
C

e ga

Sandstone
D

T TR

Correct Ans : B
Subject : Environmental Study

(D471 W @i W AT T TG WITTIVIT § bl

Q.No: 67 The diversion channels seen in the Western Himalayas are called;

uftdt Rarem A g &7 areht sruad e} wgard §;

2471976
Khadins
A
=i
Recharge pits
B
el 7§
Johads
C
Siged
Guls or Kuls
D

T a1 Hedt
Correct Ans : D

Subject : Environmental Study

IV Y MWLV I Tl 17TV T § ST GITWHT TGV VLTVl AN

HeeR 3 A R TG R 3 FW T IR

Q.No: 68 In the presence of free chlorine, DPD ( diethyl-p-phenylenediamine) produces which colour?

et FERIA 1 JURYM &, DPD (STaURA-W-BHaASaH) 5 31 51 e Ha 82

2472137
Brown
A
kU
Pale yellow
B
Tt diell
Pink
Cc
et
Persian blue
D

BRE At

Correct Ans : C

Subject : Environmental Study

Q.No: 69 Scientific name of neem is;
2472534

i &1 S A 7;

A Mangifera indica

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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A 3t

Azadirachta Indica
B

STHATERTST 381

Alum sepa
C

et Jm

Phyllanthus emblica
D

BIEARN TR

Correct Ans : B

Subject : Environmental Study

Q.No: 70 Most stable ecosystem is

2472770
o fRR uivda &
Forest
A
UG
Desert
B
Riutcict
Ocean
(o}
HENITR
Mountain
D
i

Correct Ans : C

Subject : Environmental Study

Q.No: 71 Where in the cell does the oxidation of food or glucose take place?
2472887

PIIBT H HISH a1 DI BT HGNDRU HET SIH 87

Chromosomes
A
PR
Cells
B
DIk 7
Nucleus
C
Cizta
Mitochondria
D

AR

Correct Ans : D

Subject : Environmental Study

Q.No: 72 Who was the Chief Scientist of Chandrayaan-1?
2473977

TEAH-1 & g a9E HH 42

Vasudevan Gandhi

IV Y MWLV I Tl 17TV T § ST GITWHT TGV VLTVl AN

A
argea e
Himansh Gupta
B
ot e
C Jitendra Nath Goswami
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 20/44
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foris = Tireawt

Nagendra Gupta

ARTE TwT
Correct Ans : C

Subject : Environmental Study

Q.No: 73 Ganymede is the moon of -

2474129
infts frget T @ 2
Mars
A
TS
Jupiter
B
Eisi
Venus
C
Tw
Saturn
D
=¥

Correct Ans : B

Subject : Environmental Study

Q.No: 74 "This planet looks like a yellow star. 7 rings are found around it." Identify the planet.

2474133
"7 T FIe AR FT oRe TS 4T 3] 3 IR RE 7 I U1 S ¥ 6 B GgAH |
Mars
A
USRS
Jupiter
B
e
Saturn
C
RUEE
Uranus
D
3R T8

Correct Ans : C

Subject : Environmental Study

Q.No: 75 Dr. Shanti Swarup Bhatnagar was the first Director of the -

2474260
3. i WEY HeR freds wyw e 92
NPL
A
w.dLed. (NPL)
BARC
B
91 (BARC)
BSIR
C
09,90, 3R, (BSIR)
CRISIL
D
ol (CRISIL)
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 21/44
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Correct Ans : B

Subject : Environmental Study

Q.No: 76 National Centre of Organic farming came into force in:

2475804
TPt SHfae Jft Fx Ha § @ § s
2004
A
2004
2005
B
2005
2006
c
2006
2007
D
2007

Correct Ans : A

Subject : Environmental Study

Q.No: 77 Which among the following asanas is specially recommended for youth?

2476388

Frofafed & 3 S 1 sra gareit & fog fadw & & srgeifta 32

Natarajasana
A

RO

Dhanurasana
B

YR

Shirshasana
C

BULIE

Chakrasana
D

EEasel

Correct Ans : A

Subject : Environmental Study

Q.No: 78 What is the name of the cricket Bible?
2476544

e a3l &1 W T 82

Willsden Cricketers’ Almanack
A

fawws fivdped semia

Willsden Cricketers’ Handbook
B

fawws fivded g

Wisden Cricketers’ Handbook
C

fasre fsdexd Yogw

Wisden Cricketers’ Almanack
D

fasre frded s
Correct Ans : D

Subject : Environmental Study

Q.No: 79 In which year the Parsi Cricket Club of Indore was established?

2476587

(D471 W @i W AT T TG WITTIVIT § bl

IV Y MWLV I Tl 17TV T § ST GITWHT TGV VLTVl AN
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%R & IR frdre Fa@ ot R g o g%

1890
A

1890

1872
B

1872

1957
C

1957

1975
D

1975

Correct Ans : A
Subject : Environmental Study

Q.No: 80 The FIFA World Cup was established in which Year?

2476633
BIGT fay o 3T wo 69 ad g8 die
1920
A
1920
1930
B
1930
1940
o
1940
1950
D
1950

Correct Ans : B

Subject : Environmental Study

Q.No: 81 Through visits for learning which of the following skills can be developed?

2477333
ST ¥ yHOr & T § Ffaled ¥ S o W S faehia o S wwd g2
Collecting data and analysing
A
T TehA ST AR RAxeww S
power of leg muscles
B
R It wrwnRE B ol
memory to mug up chapter
C
3R XA Bt |
power of listening
D

T Bl

Correct Ans : A

Subject : Environmental Study

Q.No: 82  Which of the following is the key reference point for planning a teaching-learning lesson?
2477368

Riggor- 3T u1s @) Ao $99 & e el § @ oH-w ger gaf $3 92

A Curriculum and/or textbook

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 23/44
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et SR /a1 TeTgS

Textbook and/or notebook
B

UL IR/l HegH

Attendance register
Cc

IRl e

Children’s attitude towards teacher
D

Rierep & wfey =8 1 39T

Correct Ans : A

Subject : Environmental Study

Q.No: 83  Group discussion is and requires ______level of attention and concentration.
2477382
o e A TRIB AU WR & S Gl WH B axgsar gk g |
time consuming, high
A
el e , S
time saving,high
B
I, FI
time saving, low
C
e v, e
time consuming, low
D

FAw ,
Correct Ans : A

Subject : Environmental Study

Q.No: 84 Which one of the following is not a consequence of deforestation?
2477796

fofafed & 3 S Frgas &1 oo 7 82
Increase in temperature
A
qEA 9
Increase in pollution level
B
TS & TR A oS
Decrease in temperature
C
TOHA  FH
Reduction in ground water level
D

yod wR H Ft
Correct Ans : C

Subject : Environmental Study

Q.No: 85 The nature of soil is often basic because of the natural presence of which of the following sedimentary rocks?

2477866
Fafifad & § 5w aasd! 9gF 3 Upfos SURUR & Fru gt 3t nefa s ety it 32
Breccia
A
ElRe
Sandstone
B
IS TR
C Siltstone

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Rreem

Limestone

AT IRR
Correct Ans : D

Subject : Environmental Study

Q.No: 86 Tectonic Plates are pieces found on which surfaces of the earth?

2477915
fadfe widl (CRE @) gt 3t 57 98! | UT 911 a1 TS 7
Crust and Upper Mantle
A
YU IR ST YHER (F 3R IR Hew)
Mantle and Outer Core
B
YIRR 3R TE IS (Fea IR PR BR)
Upper Mantle and Mantle
c
IR FTER IR AR (S Fea IR Hew)
Inner Core and Outer Core
D

SRR HIS AR T FIS (SATIRE FR R T4 BR)
Correct Ans : A

Subject : Environmental Study

Q.No: 87 Which of the following are the advantages of using ICT in a classroom?

2478504
1.It can fill the gap the conventional sources of information like books leave
2.1t can create learning opportunities for all types of students including both physically and mentally challenged students
3.It can get students to become addicted to the internet.
Choose the correct code -
Fall T 313, .21, BT Iuh B $ Fafiied § 3 o 9 @ g2
1.7 foaret 3t SRt IFER & uRufe Al g1 Siet T & B g3 @R et §
2,98 IR 3R AFRe F9 ¥ R B died 9 U6R & Bl & o0 ¥Ren & orqe dar % b @
3.399 BTl $ §ee $ ad o Il
el %e T -
Only 1 and 2
A
Faa 1 R 2
Only 2and 3
B
Faa 23R 3
Only1and 3
C
Faa 1 3R 3
1,2and 3
D
1,23R3

Correct Ans : A

Subject : Environmental Study

Q.No: 88 During the COVID lockdown period, majority of the students attended classes through videoconferencing. Which of the following aspects of the ICT tools were employed in this
2aresiz 1.Informative tool

2.Situating tool

3.Constructive tool

4.Communicating tool

Choose the correct code -

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 25/44
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IS dliers ofafy & dRM, sftreta BT 7 AfSAGEERIT & wean F Hanslt # v o HMSABTHRIT F g0 Iaewwr # o W2, Iuawvit & Fofafed § 4 o 3 o e &2
1. GIAD SUHR

2.Rygufen guse

3. TATHS JTHI

4.9AR g0

Tl Te T -

Only 1 and 2

Fad 1 3R 2

Only 2

Faa 2
Only 3 and 4

Faa3 R 4
Only 2 and 4

¥ad 2 AR 4

Correct Ans : D

Subject : Environmental Study

Q.No: 89  Which of the following can be kept in a student-portfolio?
2478678
1.Academic work of the student
2.Educational evidences for the purpose of evaluating coursework quality.

Choose the correct code -

Fafafea & F 53 om déwifed & war o1 9o 82

1.37 %1 Qeifors Frf

2.U1GUHH Bt Ui BT Geid T3 & 3530 U Mes wed|
TG IS A -

Only 1

Faa 1
Only 2

Faa 2
Both 1 and 2

Ff 1 3R 2

Neither 1 nor 2

Fdr1dRTH 2

Correct Ans : C

Subject : Environmental Study

Q.No: 90 Continuous and Comprehensive Evaluation treats evaluation as which of the following kinds of processes?
2478710

e SR AIF Wi Geaie 3 Faiiiad 3 3 e ueR @) viea ¥ 9§ 9 82

Developmental Process

A
R ufear
Phased Process
B
RO Fibal
Factor Oriented
C
PRE IYI
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Process Oriented

ufsear IgE
Correct Ans : A

Subject : Environmental Study

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Here is the scarecrow, see him stand

Upon the newly planted land;

A figure rugged and forlorn,

A silent watcher of the corn.

His dangling legs, his arms spread wide,

A lone man of the countryside;

Uncouth, the butt of pen and tongue,
Unheralded, unsought, unsung

To you, old scarecrow, then this lay

To cheer you on your lonely way;

Would that all men, their whole lives through,

Served some good purpose same as you.

IV LY VWLV I T = 17TV

Q.No: 91 ‘A figure rugged and forlorn’. What does the word ‘forlorn’ mean in the given line of the poem?

A stubbornly persistent

B noisily and stubbornly defiant
C the lowest point of anything
D pitifully sad and abandoned
Correct Ans : D

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Here is the scarecrow, see him stand

Upon the newly planted land;

A figure rugged and forlorn,

A silent watcher of the corn.

His dangling legs, his arms spread wide,

A lone man of the countryside;

Uncouth, the butt of pen and tongue,
Unheralded, unsought, unsung

To you, old scarecrow, then this lay

To cheer you on your lonely way;

Would that all men, their whole lives through,

Served some good purpose same as you.

Q.No: 92 Which of the following pair has rhyming?
A tongue-unsung

B through-way

C wide-land

D corn-stand

Correct Ans : A

Subject : English Language 02

Passage:
Direction: Read the given poem and answer the question given below accordingly.
Here is the scarecrow, see him stand

Upon the newly planted land;

Vi § _AWITIHHIERITOHET BN VIV VIKTT Wl AN
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A figure rugged and forlorn,
A silent watcher of the corn.
His dangling legs, his arms spread wide,
A lone man of the countryside;
Uncouth, the butt of pen and tongue,
Unheralded, unsought, unsung
To you, old scarecrow, then this lay
To cheer you on your lonely way;
Would that all men, their whole lives through,

Served some good purpose same as you.

Q.No: 93 ‘A lone man of the countryside’. Which of the following is being talked about here?

A scarecrow

B the dangling tree
C a silent person

D a lonely dog

Correct Ans : A
Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Here is the scarecrow, see him stand

Upon the newly planted land;

A figure rugged and forlorn,

A silent watcher of the corn.

His dangling legs, his arms spread wide,

A lone man of the countryside;

Uncouth, the butt of pen and tongue,
Unheralded, unsought, unsung

To you, old scarecrow, then this lay

To cheer you on your lonely way;

Would that all men, their whole lives through,

Served some good purpose same as you.

Q.No: 94 Which of the following is opposite in meaning to the word ‘spread’ in the given poem?

A stagnation
B advance
C diffusion
D expanse

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Here is the scarecrow, see him stand

Upon the newly planted land;

A figure rugged and forlorn,

A silent watcher of the corn.

His dangling legs, his arms spread wide,

A lone man of the countryside;

Uncouth, the butt of pen and tongue,
Unheralded, unsought, unsung

To you, old scarecrow, then this lay

To cheer you on your lonely way;

Would that all men, their whole lives through,
Served some good purpose same as you.
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Q.No: 95 ‘Upon the newly planted land’. Which part of speech is the word ‘newly’ in the given line of the poem?

A adjective
B determiner
C adverb

D noun
Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Here is the scarecrow, see him stand
Upon the newly planted land;

A figure rugged and forlorn,

A silent watcher of the corn.

His dangling legs, his arms spread wide,
A lone man of the countryside;
Uncouth, the butt of pen and tongue,
Unheralded, unsought, unsung

To you, old scarecrow, then this lay

To cheer you on your lonely way;

Would that all men, their whole lives through,

Served some good purpose same as you.

Q.No: 96 Which of the following is nearest in meaning to the word ‘cheer’?
A safe

B encourage

C pretty

D distrust

Correct Ans : B

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Here is the scarecrow, see him stand
Upon the newly planted land;

A figure rugged and forlorn,

A silent watcher of the corn.

His dangling legs, his arms spread wide,
A lone man of the countryside;
Uncouth, the butt of pen and tongue,
Unheralded, unsought, unsung

To you, old scarecrow, then this lay

To cheer you on your lonely way;

Would that all men, their whole lives through,

Served some good purpose same as you.

Q.No: 97 Which of the following is the most suitable title for the given poem?
A love is a desire

B marriage and fortune

[of scarecrow

D shifting sand

Correct Ans : C

Subject : English Language 02

Passage:
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Read the passage given below and then answer the questions given below the passage.

Yoga is a group of physical, mental, and spiritual practices or disciplines which originated in ancient India and aim to control (yoke) and still the mind, recognizing a detached witness-con
yoga, practices, and goals in Hinduism, Buddhism, and Jainism, and traditional and modern yoga is practiced worldwide. Yoga is first mentioned in the Rigveda, and is referred to in a num
term is in the Katha Upanishad, which was probably composed between the fifth and third centuries BCE. Yoga continued to develop as a systematic study and practice during the fifth anc
the Yoga Sutras of Patanjali, dating to the early centuries of the Common Era Yoga philosophy became known as one of the six orthodox philosophical schools (Daréanas) of Hinduism in t
centuries, originating in tantra.

Postural yoga began in India as a variant of traditional yoga, which was a mainly meditational practice; it has spread across the world and returned to the Indian subcontinent in different
Medieval Hatha yoga made use of a small number of asanas alongside other techniques such as pranayama, shatkarmas, and mudras, but it was despised and almost extinct by the start
such as Yogendra and Kuvalayananda made yoga acceptable in the 1920s, treating it as a medical subject. From the 1930s, the "father of modern yoga" Krishnamacharya developed a vig
next.

Q.No: 98 According to the given passage, who was the father of modern yoga?

A Patanjali

B Kuvalayananda

C Yogendra

D Krishnamacharya

Correct Ans : D

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Yoga is a group of physical, mental, and spiritual practices or disciplines which originated in ancient India and aim to control (yoke) and still the mind, recognizing a detached witness-con
yoga, practices, and goals in Hinduism, Buddhism, and Jainism, and traditional and modern yoga is practiced worldwide. Yoga is first mentioned in the Rigveda, and is referred to in a num
term is in the Katha Upanishad, which was probably composed between the fifth and third centuries BCE. Yoga continued to develop as a systematic study and practice during the fifth anc
the Yoga Sutras of Patanjali, dating to the early centuries of the Common Era Yoga philosophy became known as one of the six orthodox philosophical schools (Dar$anas) of Hinduism in t
centuries, originating in tantra.

Postural yoga began in India as a variant of traditional yoga, which was a mainly meditational practice; it has spread across the world and returned to the Indian subcontinent in different
Medieval Hatha yoga made use of a small number of asanas alongside other techniques such as pranayama, shatkarmas, and mudras, but it was despised and almost extinct by the start
such as Yogendra and Kuvalayananda made yoga acceptable in the 1920s, treating it as a medical subject. From the 1930s, the "father of modern yoga" Krishnamacharya developed a vig
next.

Q.No: 99 In history where did the word “Yoga” first appear?

A Rigveda

B Katha Upanishad
C Yajurved

D Yogaved

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Yoga is a group of physical, mental, and spiritual practices or disciplines which originated in ancient India and aim to control (yoke) and still the mind, recognizing a detached witness-con
yoga, practices, and goals in Hinduism, Buddhism, and Jainism, and traditional and modern yoga is practiced worldwide. Yoga is first mentioned in the Rigveda, and is referred to in a numr
term is in the Katha Upanishad, which was probably composed between the fifth and third centuries BCE. Yoga continued to develop as a systematic study and practice during the fifth anc
the Yoga Sutras of Patanjali, dating to the early centuries of the Common Era Yoga philosophy became known as one of the six orthodox philosophical schools (Dar$anas) of Hinduism in t
centuries, originating in tantra.

Postural yoga began in India as a variant of traditional yoga, which was a mainly meditational practice; it has spread across the world and returned to the Indian subcontinent in different
Medieval Hatha yoga made use of a small number of asanas alongside other techniques such as pranayama, shatkarmas, and mudras, but it was despised and almost extinct by the start
such as Yogendra and Kuvalayananda made yoga acceptable in the 1920s, treating it as a medical subject. From the 1930s, the "father of modern yoga" Krishnamacharya developed a vig
next.

Q.No: 100 Which of the following concepts is not mentioned in the given passage?

A Hinduism
B Sikhism
C Jainism
D Buddhism

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.
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Yoga is a group of physical, mental, and spiritual practices or disciplines which originated in ancient India and aim to control (yoke) and still the mind, recognizing a detached witness-con
yoga, practices, and goals in Hinduism, Buddhism, and Jainism, and traditional and modern yoga is practiced worldwide. Yoga is first mentioned in the Rigveda, and is referred to in a nurr
term is in the Katha Upanishad, which was probably composed between the fifth and third centuries BCE. Yoga continued to develop as a systematic study and practice during the fifth anc
the Yoga Sutras of Patanjali, dating to the early centuries of the Common Era Yoga philosophy became known as one of the six orthodox philosophical schools (Darsanas) of Hinduism in t
centuries, originating in tantra.

Postural yoga began in India as a variant of traditional yoga, which was a mainly meditational practice; it has spread across the world and returned to the Indian subcontinent in different
Medieval Hatha yoga made use of a small number of asanas alongside other techniques such as pranayama, shatkarmas, and mudras, but it was despised and almost extinct by the start
such as Yogendra and Kuvalayananda made yoga acceptable in the 1920s, treating it as a medical subject. From the 1930s, the "father of modern yoga" Krishnamacharya developed a vig
next.

Q.No: 101 Which of the following is NOT correct here, according to the information given in the passage?

A Yoga has spread across the world and returned to the Indian subcontinent in different forms
B The ancient Yoga Sutras of Patanjali briefly mention yoga postures and asanas

(o} Postural yoga began in India as a variant of institutional yoga

D Advocates such as Yogendra and Kuvalayananda made yoga acceptable

Correct Ans : C
Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Yoga is a group of physical, mental, and spiritual practices or disciplines which originated in ancient India and aim to control (yoke) and still the mind, recognizing a detached witness-con
yoga, practices, and goals in Hinduism, Buddhism, and Jainism, and traditional and modern yoga is practiced worldwide. Yoga is first mentioned in the Rigveda, and is referred to in a numr
term is in the Katha Upanishad, which was probably composed between the fifth and third centuries BCE. Yoga continued to develop as a systematic study and practice during the fifth anc
the Yoga Sutras of Patanjali, dating to the early centuries of the Common Era Yoga philosophy became known as one of the six orthodox philosophical schools (Daréanas) of Hinduism in t
centuries, originating in tantra.

Postural yoga began in India as a variant of traditional yoga, which was a mainly meditational practice; it has spread across the world and returned to the Indian subcontinent in different
Medieval Hatha yoga made use of a small number of asanas alongside other techniques such as pranayama, shatkarmas, and mudras, but it was despised and almost extinct by the start
such as Yogendra and Kuvalayananda made yoga acceptable in the 1920s, treating it as a medical subject. From the 1930s, the "father of modern yoga" Krishnamacharya developed a vig
next.

Q.No: 102 “And mundane suffering’. Which of the following is opposite in meaning to the word ‘mundane’ in the given line of the passage?

A abnormal
B banal

C earthly

D routine

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Yoga is a group of physical, mental, and spiritual practices or disciplines which originated in ancient India and aim to control (yoke) and still the mind, recognizing a detached witness-con
yoga, practices, and goals in Hinduism, Buddhism, and Jainism, and traditional and modern yoga is practiced worldwide. Yoga is first mentioned in the Rigveda, and is referred to in a numr
term is in the Katha Upanishad, which was probably composed between the fifth and third centuries BCE. Yoga continued to develop as a systematic study and practice during the fifth anc
the Yoga Sutras of Patanjali, dating to the early centuries of the Common Era Yoga philosophy became known as one of the six orthodox philosophical schools (Daréanas) of Hinduism in t
centuries, originating in tantra.

Postural yoga began in India as a variant of traditional yoga, which was a mainly meditational practice; it has spread across the world and returned to the Indian subcontinent in different
Medieval Hatha yoga made use of a small number of asanas alongside other techniques such as pranayama, shatkarmas, and mudras, but it was despised and almost extinct by the start
such as Yogendra and Kuvalayananda made yoga acceptable in the 1920s, treating it as a medical subject. From the 1930s, the "father of modern yoga" Krishnamacharya developed a vig
next.

Q.No: 103 ‘Recognizing a detached witness-consciousness’. Which of the following is nearest in meaning to the word ‘detached’ in the given line of the passage?

A attached
B combined
C interested
D isolated

Correct Ans : D

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.
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Yoga is a group of physical, mental, and spiritual practices or disciplines which originated in ancient India and aim to control (yoke) and still the mind, recognizing a detached witness-con
yoga, practices, and goals in Hinduism, Buddhism, and Jainism, and traditional and modern yoga is practiced worldwide. Yoga is first mentioned in the Rigveda, and is referred to in a numr
term is in the Katha Upanishad, which was probably composed between the fifth and third centuries BCE. Yoga continued to develop as a systematic study and practice during the fifth anc
the Yoga Sutras of Patanjali, dating to the early centuries of the Common Era Yoga philosophy became known as one of the six orthodox philosophical schools (Darsanas) of Hinduism in t
centuries, originating in tantra.

Postural yoga began in India as a variant of traditional yoga, which was a mainly meditational practice; it has spread across the world and returned to the Indian subcontinent in different
Medieval Hatha yoga made use of a small number of asanas alongside other techniques such as pranayama, shatkarmas, and mudras, but it was despised and almost extinct by the start
such as Yogendra and Kuvalayananda made yoga acceptable in the 1920s, treating it as a medical subject. From the 1930s, the "father of modern yoga" Krishnamacharya developed a vig
next.

Q.No: 104 ‘As a systematic study and practice during the fifth and sixth centuries’. Which part of speech is the word ‘during’ in the given line of the passage?

A determiner
B preposition
C conjunction
D adverb

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Yoga is a group of physical, mental, and spiritual practices or disciplines which originated in ancient India and aim to control (yoke) and still the mind, recognizing a detached witness-con
yoga, practices, and goals in Hinduism, Buddhism, and Jainism, and traditional and modern yoga is practiced worldwide. Yoga is first mentioned in the Rigveda, and is referred to in a num
term is in the Katha Upanishad, which was probably composed between the fifth and third centuries BCE. Yoga continued to develop as a systematic study and practice during the fifth anc
the Yoga Sutras of Patanjali, dating to the early centuries of the Common Era Yoga philosophy became known as one of the six orthodox philosophical schools (Dar$anas) of Hinduism in t
centuries, originating in tantra.

Postural yoga began in India as a variant of traditional yoga, which was a mainly meditational practice; it has spread across the world and returned to the Indian subcontinent in different
Medieval Hatha yoga made use of a small number of asanas alongside other techniques such as pranayama, shatkarmas, and mudras, but it was despised and almost extinct by the start
such as Yogendra and Kuvalayananda made yoga acceptable in the 1920s, treating it as a medical subject. From the 1930s, the "father of modern yoga" Krishnamacharya developed a vig
next.

Q.No: 105 ‘Known as one of the six orthodox philosophical schools’. Which part of speech is the word ‘orthodox’ in the given line of the passage?

A noun

B adjective

G adverb

D determiner

Correct Ans : B

Subject : English Language 02

Q.No: 106 Constructive approach to language learning promotes which of the following?

A culture of silence

B classroom noise

(o} a child centred approach

D a teacher centred approach

Correct Ans : C

Subject : English Language 02

Q.No: 107 Which of the following three phase structure does a sandwich technique have?

A presentation practice production
B listening writing repetition

C error correction reproduction

D none of the given options

Correct Ans : A

Subject : English Language 02

Q.No: 108 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

We'll come we can.
A whereby
B as soon as
C whereas
D instead

Correct Ans : B
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Q.No: 109 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

Our mother is not here, that’s why our dad is taking care

A about
B of
C to
D at

Correct Ans : B

Subject : English Language 02

us at the moment.

Q.No: 110 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

The children are always

A anger

B freshly

C hungry
D eagerly

Correct Ans : C

Subject : English Language 02

when they get home from school.

Q.No: 111 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

1 have this pain in my chest, doctor.
A point

B observe
C mark

D sharp
Correct Ans : D

Subject : English Language 02

Q.No: 112 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

Ihada coffee and left the house.
A taste
B expert
C quick
D old

Correct Ans : C

Subject : English Language 02

Q.No: 113 1If a child learns a language naturally without taking any formal classes or making practice, this may be best defined as —

A Language acquisition

B Language adaptation

C Language learning

D Language encapsulation

Correct Ans : A

Subject : English Language 02

Q.No: 114 What is learning in terms of language development?

A a process that brings no changes in knowledge

B a process that provide temporary changes in knowledge
(o} a process of acquiring new skills and knowledge

D a process of behavioural changes

Correct Ans : C
Subject : English Language 02

Q.No: 115 Which of the following is not an Interactive speaking situation?
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A Reciting a poem
B Telephone calls
C Meeting

D Books buying

Correct Ans : A

Subject : English Language 02

Q.No: 116 Which one of the following is not an aim of speaking skills?

A Sentences clearly and comprehensibly

B express feelings and emotions

C make the learner a good and confident speaker
D lead to learning a language properly

Correct Ans : D

Subject : English Language 02

Q.No: 117 which of the following is major challenges of teaching English in India ?

A over-crowded classrooms
B school Environment

C school curriculum

D all of the given options

Correct Ans : D

Subject : English Language 02

Q.No: 118 While introducing the pronunciation of simple and similar sounds like cat, bat, rat, mat, etc., which maxim of English language teaching will a teacher use?

A Movement from known to unknown.

B Movement from psychological domain to logical understanding.
C Progression from induction method to deduction method.

D Introducing similar examples from day-to-day life.

Correct Ans : D

Subject : English Language 02

Q.No: 119 Ms. Reena is introducing nouns in one of her classes this week. Which of the following must she follow?
1) She must summarise the bullet point of the topic
II) To ensure effective learning, she must identify students with special learning needs

III) She must encourage students to actively participate during lessons

A IandII

B I and III

Cc II and III

D I, IT and III

Correct Ans : C

Subject : English Language 02

Q.No: 120 1n order to hone the speaking skills of students, the language teacher asks them to enact the roles of different characters from a story. This is an example of

A TBL
B Team teaching
C CLL
D None of above

Correct Ans : A

Subject : English Language 02

Q.No: 121 In comparison to boys vocabulary of girls in all stages and age is -
2473654

D! B SHT&T TRRPTSH BT Weq SR WIHT Wi 3G AT SERISf H ...

More
A
3 war g
Less
B
T A S
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c Equal
IR Al §
Detective
D
rgef vear ¥

Correct Ans : A

Subject : Child Developement

Q.No: 122 Which one of the following is the best method to assess actual learner achievement on a topic taught?

2474298
fareht uer 7 fawa axg & ey F Riendf Ft arafas Sualsr (Tagsm o THiade) F ermad & g Fafifad § @ oF-d wdis Ry 32
ask the learners attempt a test on the topic next day
A
et o e 1 3w fawa 1 & 3 F R v
discuss the topic again the next day in class
B
3T ot 3w fawa 9 e == e
ask the learners to select answers from ready-made lists in questions
C
Rramdf & et 1 g TR T | I T & g vew
ask the learners to perform a task using the matter covered in the topic
D

fowa & FR Bt 7 Ryg-avg o1 IwhT wR Rl 9 0 @ HA F i ser
Correct Ans : D

Subject : Child Developement

Q.No: 123 Which traditional learning theorist believed that the use of hypothetical constructs does not contribute to our understanding of behavior?
2474489

5 TRuRe e RigiqeR &1 A1 o 6 Teufic Weel & I9aNT 3 IaeR &1 gaRl WAz # direr =) foar &2

Hull
A

'

Skinner
B

o

Tolman
C

efaie

Rotter
D

IR

Correct Ans : B

Subject : Child Developement

Q.No: 124 If a student is mischievous and disturbing in the class with words and actions which of the following methods would be correct in your opinion to deal him?
2474592

I IS B IRRA T AR el F 0 Weal R 1! F W= Fal 3, o S99 Fved & R smuat wa § Pofifdd § 3 o5 a1 wler agdt g

insult him in the class by pointing out his mistakes

A
BT F TGB! AT ) TP FHBT TAI BY
shout at him and warn him to correct himself
B
39 R freet ok 99 gE Y 9 H & g I &
call him to your room and make to him to understand his problems
C
T o HR H geel IR S grel B e
D punish him by expelling him from the class to teach a lesson to others
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TR P gaw Rram F g 98 wam I Fema & 4fa w¢

Correct Ans : C
Subject : Child Developement

Q.No: 125 The Father of Experimental Psychology is

2475349

TS AAATH & S §

Wilhelm Wundt
A

fogm g

Sigmund Freud
B

R wras

CG Jung
C

Fieft s

William James
D

faferam S

Correct Ans : A

Subject : Child Developement

Q.No: 126 Which of the following forms of mental retardation is caused by the presence of an extra chromosome?

2476716
THRIE Hedl BT -1 T Fafifaa § 3 te sififked o #1 SufRifa & SR e §2
Down syndrome
A
31 Rigm
Cretinism
B
HRfre
PKU
C
Ricz:o
Cultural-familial retardation
D

IR M N
Correct Ans : B

Subject : Child Developement

Q.No: 127 which of the following is not an element of intelligence as suggested by Binnet?

2476828
e &1 g9 e A A 4 B 9 @1 aa el 82
Direction
A
fe=m
Comprehension
B
SEsl
Adaptation
C
S
Criticism
D
e

Correct Ans : B

Subject : Child Developement

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 36/44
Page - 36



il V. 1T 1 IV (D071 W i W AT T T VIV § bl YTV Y VWV I T 17V T e § ST pGRITWHT BTGV VIRVl AN

Q.No: 128 At a particular age, every normal child starts crawling, walking or talking. This is an example of which of the following?

2476988
T AR 99 # o) G 9= S, 9T 31 910 Bl YE DR & o) 97 Fufifla # ¥ feuer Samwu 32
Learning
A
Ty
Maturation
B
TRusar
Experience
C
P
Ontogenetic functions
D

g P
Correct Ans : B

Subject : Child Developement

Q.No: 129 Which of the following begins with conception and ends with childbirth or abortions

2477101
Frofafed ¥ & o1 Tviawn § gE a1 8 ok 91 & o a1 miurd & a1y T g 82
Motherhood

A
G
Adulthood

B
Eois
Pregnancy

c
afawr
Lactation

D
wIH

Correct Ans : C

Subject : Child Developement

Q.No: 130 Internal organs began to take shape and external physical characteristics assumed definite forms in

2477429
e 3T F Fmfo 3 geema iR el Wive fadwaell &1 A Tuam e d I e R A gE g e
Germinal period
A
S P
Embryonic period
B
YOT 1et
Fetal period
C
TR s
None of the given options
D

fau e famedt & 4 1§ T

Correct Ans : B
Subject : Child Developement

Q.No: 131 According to Mussen, Conger and Kagan which of the following is not an obstacle to creativity in problem solving?
2477561

T, R R ST F AR Fafafed ¥ I $H-a1 wwwn qmyE § Weea $ R @ a1 T8 82
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Forgetting the elements of the problem

A
TN & A DY YT
Sufficient knowledge
B
e 9
Fear of failure
C
G BT ST
Fixed prior beliefs
D

ffya o Araang
Correct Ans : B

Subject : Child Developement

Q.No: 132 Refusal of child to sleep alone is a symptom of which type of emotional disorder?

2477646
T BT 30 W W SR BN 59 TR & UGS SR P16 82
Specific phobia
A
e v
Separation anxiety
B
JYFERYl
Conversion disorder
C
FUiaRu faeR
Generalized anxiety disorder
D

T fidr fder
Correct Ans : B

Subject : Child Developement

Q.No: 133 Who out of the following has said, “Behaviour that does not conform to the cultural norms or laws of a given society at a particular time and is oftentimes negatively sanctione
2477692

Frofafed & @ fee Fe 7, U AaeR S ki Ty & 5 fau Tu w9 & aRgfae AMES] 91 ST & SIS 61 3l § 3R SR THRIHP U § Wipd gl 8, SU Srawie el o |

Omogho Esiri

A
i TRIR
Max Weber
B
HRT IR
George Herbert Mead
o
Sifef i s
August Comte
D

T PI
Correct Ans : A

Subject : Child Developement

Q.No: 134 A teacher observes a student humming a popular song which has high prurient overtones. In which of the following cases can the cause of this delinquency be attributed to pe
2477694

1. The child has heard his/her parents sing the song.

2. The child has heard the song on YouTube.

Choose the correct code.

T RiefF TF BH B T A T TIFAR §C & § e 5o it w81 Fefafad ¥ 9 g amd & 59 o1y &1 SR it & qae (R I¥R) 31 RieR se’m S gdd 82
1. 9= Y T Aar-far & W T G B
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2. %9 3 gegd W A I R
T FT I -

Only 1

Fad 1

Only 2

Fad 2
Both 1 and 2

grf1 ek 2

Neither 1 nor 2

ARd1IARAE 2

Correct Ans : D

Subject : Child Developement

(D471 W @i W AT T TG WITTIVIT § bl

IV Y MWLV I Tl 17TV T § ST GITWHT TGV VLTVl AN

Q.No: 135 Which of the following sections of the Juvenile Justice (Care and Protection of Children) Act, 2015 provides for special provisions that have been made to tackle child offenders

2477762

=ik Om (ar=l @1 J@HTa SR TR S, 2015 $ FERid § I B9 I URT 16-18 T & R @7 F STU ORI HA 1A 919 SORIET I e & g ARy wray™ veE w82

Section 10

YRT 10

Section 8

YRT 8

Section 13

YRT 13

Section 15

YRT 15

Correct Ans : D

Subject : Child Developement

Q.No: 136 Which of the following is the principle Inclusive education is based on?

2478140

grash e 1 frsta FofaRed & § e w enfa 82

Economic equality

31f¥fe T

Social diversity

g fafdea

Equal opportunities

HHM SaW

Social tolerance

wIforE fgar

Correct Ans : C

Subject : Child Developement

Q.No: 137 Which of the following is/are a characteristic/ characteristics of a child with low vision?

2478165
i) Using a finger to guide eyes while reading
i) Frequent eye rubbing
Choose the correct code
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9 7 & o1 $0 2 o 5= 3 g/ fdvang 8732

i) Ugd WHY iG] &1 ANiERH S & U Feht &1 ITART H3
i) SR-SR 3@ HET

T P8 I

i) only

i) Faa

ii) only

i) Faa
Both i) and ii)

i) oK ii) 9

Neither i) nor ii)

adri) I ii)

Correct Ans : C

Subject : Child Developement

(D471 W @i W AT T TG WITTIVIT § bl

IV Y MWLV I Tl 17TV T § ST GITWHT TGV VLTVl AN

Q.No: 138 Which of the following is NOT an important and known cause of Cognitive Disabilities due to infection and intoxication?

2478220

frofafea & & o1 oA ok 79 $ FRU G Il YIATES Semais BT 1@ Agayyl R I $RU T 32

Rubella

Faar
Syphilis

IueW

Encephalitis

$obarfed

Diabetes

Yl

Correct Ans : D

Subject : Child Developement

Q.No: 139 The reasons behind Socially Maladjusted Children is/are

2478430

i) Social disparities
ii) Economic disparities
iii) Educational disparities

Choose the correct code

TIPS T § FHARN s & Ui & SR -
i) IS fawmang

ii) anfde fawmamy

iii) Qe fawrang

@ Pls I

i) only
A

i) Faa

i) and ii) only
B

i) 3R ii) Faq

i) and iii) only
C

i) 3R iii) Faa
D i), ii) and iii)
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i), ii) 3R iii)
Correct Ans : D
Subject : Child Developement

Q.No: 140 According to the Group factor theory, which of the following factors represents the ability to understand and comprehend given words?
2479718

I HRS Rigia & oFuR, Fufifed # A 3 o oRe T 70 sl 3 gagH iR THeA @t emar S ufaffa a8

Verbal meaning ability

A
- dvar (Roga W TRk
Memory ability

B
TR G (AR TR
Numeric ability

C
ide drar (PR TR
Reasoning ability

D

& g (St gl
Correct Ans : A

Subject : Child Developement

Q.No: 141 Who among the following believed that school life should grow out of home life and experience?

2479910
Fofifad ¥ 3 frae ag faym o1 7 et fem Tew Sitad 3R srgua § fasRid o aike?
Plato
A
@
John Locke
B
ik
Jean Piaget
C
S frsrte
John Dewey
D

S St
Correct Ans : D
Subject : Child Developement

Q.No: 142 pedagogy provides equal opportunities to learners to participate in teaching-learning process in a democratic environment.
2480094

e et &) diwdifie araraRon § Rieor-femm uihar # 4T 49 $ THM AR UEH IRl 8

Egalitarian
A
FHFIRGRATE
Feminism
B
RIS
Complementarian
C
T
Elitism
D
SPEd

Correct Ans : A

Subject : Child Developement
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Q.No: 143 Rashi, a student of class sixth, is trying to cope with new social and academic demands. She is going through which basic conflict, according to Erikson's sequence of social de

2480163
TS B B BT A TS ARG 3R e Tl BT WHAT B BT BRI TR I ¢ IRG & AR w1 F SER, 98 g g wad § Tor 3@ 82
Identity vs Role confusion
A
UgaH §H Y4PT B uH
Generativity vs stagnation
B
USHATHSB AT FH Sed
Autonomy vs Shame and Doubt
G
W & T 3R 93
Industry vs inferiority
D

I T g

Correct Ans : D
Subject : Child Developement

Q.No: 144 On her way to school, Naina notices a blind person who is trying to cross a road. She knows that she'll be late to school if she helps this person. Despite this she helps the blin

2480197 of the following?

A A T, A1 TP AL AR Bl 2 § S TP Y@ UR B B BRI I QT ¢1 98 9l & b afe 98 30 fc 31 Aeg Bl & dt 39 Tpd IF A R g Twi 36% a9 98 “6H &

Physical development

A
IR fwr
Cognitive development
B
WS R
Social development
C
[ e
Moral development
D

A e

Correct Ans : D

Subject : Child Developement

Q.No: 145 The construct of the G-factor intelligence by Spearman was criticized for its

2480220
WRRA R Sfi-ae i & Fnfor @t s $5 __ fuwwd
Unilateral approach
A
THuelg RSB0
Psychological approach
B
TR ERH
Scientific approach
C
EruEed s
Mathematical approach
D

T ERH
Correct Ans : D

Subject : Child Developement

Q.No: 146 Which of the following factors doesn't influence the process of socialisation?
2480318

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

42/44
Page - 42



il V. 1T 1 IV

Frafafed § & $H-91 SRS TASIS0 ST Uferal S qHTiad T2l Har g2

Social Interaction

RIS |/ 30 frar

Education

e

Identification

LCEl

Language

ST

Correct Ans : B

Subject : Child Developement

Q.No: 147 Which one of the following is not considered a sign of gifted children?

2480617

FProfafea & 3 o w1 Ry s=i @ R T8 am s 82
Curiosity

forrar

Creative ideas

RERIGEACEIN
Think abstractly

R Y 9L
Fighting with others

TR F

Correct Ans : D

Subject : Child Developement

(D471 W @i W AT T TG WITTIVIT § bl
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Q.No: 148 According to the Jean Piaget’s theory of relationship between language and thought:

2480637

i s & SER W1 SR faR & e ddy a1 Rigid:

Thought determines Language

R wmw fFreia SRaT e

Language determines Thought

T AR Bt fFAuffa w6 &

Thought and language are independent processes until the child is 2 years

R 3R 4T WA upan § e e e 2 W wr AR

Language and Thought are innate proposition

7T 3R AR e e §

Correct Ans : A

Subject : Child Developement

Q.No: 149 How can reliability of a test be increased?

2480704

T uRemr 3 fAyeiaar 9 gers o et 82

By seeking expert’s agreement

faiowst ot wewfa W eRE
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B By increasing the test length

Tl B T TgER

By shortening the test length
C

TR B BT RS

By arranging items in order of difficulty
D

T B BIEE TR F TUR HHIS RSP
Correct Ans : A

Subject : Child Developement

Q.No: 150 A teacher is trying to counsel a child who is not performing well following is most appropriate about counseling in schools?

2480870
TF AP 99 T & Ty R B4 § ORI FIofaers il U gue & e o 6l | Frafiea & 3 o1 M b e 7w & R sl e 8 aad 82
It is about the palliative measure for making people comfortable
A
I§ TP UG I 3 T AT ST BT SRS Heqy T 6
It builds self-confidence of people by letting them explore their own thoughts
B
T 3o R R € A 3 Al ey w1 fmfor awar §
It is about giving the best possible advice to students about their future career options
C
foenfifdl @t ufder & el B T ¥ U U ST SRR I ¥
It can be done only by the professional experts
D

79 & Bl Fad Sgyd ST aiE ARtvg I w1 W g1
Correct Ans : B

Subject : Child Developement
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